spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

Mean Spectrum

A (&) z = 0.68332

RMS Spectrum

raw

I
o
o
I
I —con
I

o

|

'

| Rmsx

BTt i

{liN BLR
| Hﬂ
Mgll

[ORTENRI . SPRRPPRTN (PONPPUN Lot N i, 1

I

4000
0.68332

A Q@) z

x(\t) = ( Data — Model ACsBsF ) / o x
4578x90

L AT
A S

e

[ e
i

RS B o U A el
i i
‘\“‘:“\“ w‘w‘lu“ u“ 'w:H‘u “\‘\”“l‘ i 1

R
bt A 8 MH“W\‘

AL il

B G N it b AR R

ARt b e S eI AR A e st
bbb APrTE

i g R e
H“"f‘ ) ‘\“‘\1 "W‘W'\w“”‘ﬂ“"1“"\“‘0‘31‘3."“ “”,‘ )
IR
[
i
i

i T e
Ll Vi
g R R o A

i i i
R
1l

il et e
kgl
RIS AT

i

i Sy
pULE e R A ‘u‘h”' (AT
SRR AT R O

AT b
g ;“v‘l’n““;‘}J“g‘.““‘q“““‘.“‘l‘f“w

T
DL

A e
Wt

TN
A AT

i i
Wt
ATy

T Y
et
LN S T L
it

i

R S
i

R AT
gyl B e
Rl “”“‘:"‘ I
e D L
i

At Ml

‘w“)‘ Wl m‘w u”\#\‘u“
el e

WA A
L N
(AT f 1 i Y
R
(e 11‘\.\“‘“ i

ittt St
A ‘\‘\‘h\w‘\‘u i ‘:";““‘ i

‘ H ““;J:‘\gI“,."\I]\\vm\‘g‘l”‘g"‘““ L
G A

5000

MR T

O

SR O e
it ol
(AL Ll

IR

bad:1282=0.31% A (R) z = 0.68332

u = 0.013(21) x = 0.935(77) => 0.935(77)
B.F

Ay
IIl”:LvI—L

1.5

T R T T Y TR RO e ¥ iarm C
by o il

ARt e o]

4000
0.68332

"IllllllllllI;III

5000

3000

A Q@) z

t

model

-2

f) (10717 erg em™2s7'87")

o
=
m

& and x

10

1.5

0.5

Continuum Lightcurve

med(mad)%

Ac(3625R8) 0.4(6.4)% S/N

50" ' 160

0
Ac %

5o

21408 ) 27858 ) 36258 )

8000
MJD — 2450000

7000 7500

BLR Lightcurve

L S/N BLR —3.3 Hg 42 Mgll 36 |

1 MgII
HB
I1BLR

" 2 " 1 " " " " 1 " " " " 1 " " " " 1 " " " " 1
7000 7500 8000 8500 9000
MJD — 2450000
Phot Corrections
rm701 med(mad)% Ap 1
T T T T 1 T T T T 1

3 Ap 100.0(2.6)% S/N 21 1
Prior(Ap) 5.0 %

7500 8000
MJD — 2450000

4 = 0.0137(109) x = 0.925(24) => 0.925(24)
med(mad)
— T 1

7500 8000
MJD — 2450000




